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Students,

All of the concepts covered in this packet are prerequisite skills for Algebra 1
AND for Honors Algebra 1. You may visit www.khanacademy.org o brush up on
these skills.

These problems should be completed over the summer and ready fo turn in on
the FIRST day of schooll (Your summer packet will NOT be accepted late.) You
MUST show all of your work o get full credit. Please put a box/circle around your
answers and write neatly. These problems are reflective of the knowledge that is
prerequisite to the Algebra | course.

This assignment will be graded on ACCURACY. [t will be counted as you first 3
Homework grades. Upon returmn to school, you will have time in class designated
for you to get help from your teacher for any questions you answered incorrectly
and do not understand. Then, you will be guizzed over the content in the
Summer Packet. The exact day of your Summer Packet guiz will be given 1o you
by your teacher the first day of school. Be prepared to take the Summer Packet
Quiz 4-5 days after returning o school.

All concepts in this packet are prerequisite concepts required for entry info this
course. If you look through the packet and find that not to be the case, you will
need to notify your teacher of this immediately, it may be you have been
placed into the wrong course. It will be your responsibility fo review adequately
for the first quiz. Your teacher will be providing you time in class to ask questions
before you take this quiz, but it will be up to you to learn the concepts. Your
teacher will not be teaching on any of these concepts.



Eualuatmg Algebmlc Expressuons
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ex: 9x* - Lr(g + 32) i
I, Substitute the given values for the variables in forx=-3,y=22= :
the expression
2. Eudluate the expression wusing the order of (-2} - 42 + 3 -5)
operations q(-3)2 - {2 +« 15
+ Parentheses/Brackets {inside to outside) [ )2 ( )
» Exponents 9(-3)% - :
+ Multiplication/Division (left to right) qg-q.- 4.7 |
+ Addition/Subtraction (left to right) 3.l 17 :
I
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.. Multiply the number outside the parentheses by ex: b(8x - 3) :
each term in the parentheses. '{i( 8% — 3) |

BX —~ :

2. Keep the addition/subtraction sigh between each e |
term ’ 56 5(3)
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I Cledar ony parentheses using the Oistributive

Propert _ :
roperiy 253)&—4)——[2)(-&‘-?!

2. Add or subtract ke terms (use the sign In front xR 7% + 4 |
of each term to determine whether to add or Ao A+ :
subtract) ow o ] |




Evaluate each expression for a =4, b=-3,¢= 2, d = 7. Show your work.
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Sirnplify ecch expression using the Distributive Property.
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Simplify each expression, showing all worl,
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Solving One-Step Equations

. Cancel out the number on the same side of the ex: -8 =0

| equal sign as the variable using inverse operations [
: {oddition/subtraction; multiplication/division) -18 = bj

! 2. Be sure 1o do the same thing to both sides of the 6 6 I
| equation] : . B=j—)j=-3] 1
Uy U PP ]

I d |
I Undo operations ong ot o time with inverse ex: 7 12 = -4 .
! ’ operations, using the order of operations in g |
: reverse {ie. undo addition/subtraction before = =2 = = !
multiplication/division) 7ol +n2 .
| 2. Be sure to aways do the sume thing to both a |
; ; Tyxo =3x7
siles of the equationl 7

i ex: 5(2x—-4)=3x+4x—i;
. L Clear any porentheses using the Distributive .
| Property Ox -5 =3x+Ux-| i
; 2. Combine like terms on each side of the equal sign 00X -5="7%-1 |
1 4. Get the variable terms on the same sile of the o m?ﬁ”_ :
! equation by adding/subtracting & variable term % -B=-| |
: to/from both sides of the equation to cancel it T :
! out on one S]de e b !
! 4. The equation s now a two-step equation, so _“3“ [
' | Finish solving t as described above m i

X =5

3




Solve each equution, showing all work.
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Scientif‘ ic Notation
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Il Stardard Form to Scientific Notation: move the

i decimal after the First non-zero digit and eliminate ex: 0.0000571 |
. any traling zeros. Multiply by 10 to the power edual . :
i to the number of places you moved the decimal point. 0.000057 i
- If the orignal number was greater than |, the Orignal rmber < | 9 negaive exponens |
| exponent is positive. IF the humber was less than |, =| 5.7 x 05 |

the exponent Is negative.

Scientific Notation 1o Standard Form: move the ex: 3.5 x 107
[l decimal point the number of places indicated by the
1 exponent. If the exponent is positive, move the

| decimal right. If negative, move left. 3,500, = {3,500

Postlive experant, 8o move decimal vight -

! Zero Exponent: Any humber raised to the zero ex: W= |
| power equals | '
| Negative Exporent: Move the base to the opposite ox: w = |
:  side of the Fracton lne and make the exponent x4 :
| posiive |

| Monomial x Monomigl: Multiply the coefficients and ex: (4x*)(2x5) = 8x3 i
i add the exponents of like bases

| Monomial + Monomial: Diide the coefficients and ex: % =0 %=
subtraet the exponents of like bases a

Power of & Monomial Reise each base (including the
| coefficient) to that power. If a base already hos an
| exponent, multiply the two exponents

ex: (-2 = -85 |

: ) .
| Power of d Quotient: Raise each base {including the 5 o d? |
: coefficient} to that power. If a base dlready has an ex:\=——/ = — ;
| exponent, multiply the two exponents - ;




Convert each numbar o Smentro:: Notation.
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Simplify each expression. Write your answers using only positive exponents.
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Slope & Rate of Change

:  Finding the Slope Given Two Points: Use the ex: (L_ff -LZ), (*2, f‘)
| coordinates from the points In the slope Formula: s T
: ~ (=72} _ 0 0

vy _s-(2_o _[o
: Slope (m) = ;2= Rl e A
I
. Finding the Rate of Change From d Toble: Determine e
| the amount the dependent variable (i) Is changing and T
i the amount the independent variable () is changing. ;30 e

|

: . _ changeiny T
I Rate of Change = 2= == ahge n X OB B
i 25 dollars/month
| Finding the Slope From a Graph: Choose 2 points on
- the groph. Find the vertical change (rise} and ot o = A7
| horizontal change (run) between the 2 points and oo i = 2
: write it os d fraction B2, (Up is positive, down is 1l |
! negative, right is posmua and left is negative). N -
!

Graphing Linear Equa'tuons
P P e+ et e 4 £ 1 1 £ o+ 8 4§ i 1 4 o o T4 5 bt -
[ Slope-Intercept Form: y :fmx +b ex: y=2& -4
i slope  yintercept yintercept: -4
: Z e vl
! How To Graph: slope: 7 = T run
| ) Make o point on the yaxis at the yintercept. .
i 2. Use the slope 1o determine where to make the 7
. next point. The numerator tells you the rise : 4
i (how far up/down) and the denominator tells you T
: the run fhow Far right/left) to make the next CEL
i point, ¢
| 3 Repeat to make more points and then connect TR

the points with a line.




‘Find the slope of the line that passes throiigh the points. Siow uour. vork,

| 41 "5|-.?3>; @;“‘) ‘. C%)L’{> (l '} QD) | o (ci-:?)) (.O[ IP!> -9@;@_{,-@) Cﬁ("fq)

Fin_aiihg rate of change. Shﬂm Hour work,

BB
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- Find the slope of thé line:
R * “ HEHEET

5

‘Braph the line..

o y=n-3 |7y~ TRy -dy -
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